SuMPO EPD SUMPOEBIEIANINTOYS A

SE"'VE’D - — R EE A Y AT IR A
.. 4T NBRIEEE (EPD) HRHTARARXAME-14-8
VERIFIED KANDA SQUARE GATE

ZixE= . JR-AI-25511E https://ecoleaf-label.jp

ZH/ LA = = "
(:II<ONICAIV)IINOLTA,INC.) bIZhUb C360iRM

HEHAL BHRES JR-AI-25511E
I EFAPCRES  PA-590000-AI-08
PCR% EIE NP+
HEMRERRE VNI 2026568 19H
W& LG RILE1EE  20265581H
FEMRIRE, £, KRB, FR-HHEE BEEVYMI) RIEAR YATLRREEA R
RALES JV-AI-25511
RIEEEAR 2031448308
HROBKX, TEMLK-FEx PCRLE1-DEHE
A= : bizhub C360iRM (For EU) REHZ 20235 98 1H
FEMLEK ZER g Bx
RS BFEEARNT-EEH) (—HeAt FiE A Y AT DIV HEERERS)
WENRIEREE (A4): 15— 36ppm/H5— 36ppm B=HRAEE
BEAAEY1XA3 NEBIREEE MR EFXR

W DR AR R R
ISO14025(CHE > Te AT B R U7 -5 IR LIAREE
HARREBMNERITT P88 WAL
VAT LRAER I LB ERNOREOS AL, YATLRIETLEEED
#RTETH,
FUWEDHESE

AZHhNI%kA R
eco-support@konicaminolta.com

Zi&ES ¢ JR-AI-25511E



SUMPOBRIEINITOI I A

SuMPO
EPD Slulor el AT IR
f .0 F14TNBEEE (EPD) HRABT KK ARE1-14-8
_ VEREEVED KANDA SQUARE GATE
BHES JR-AI-25511E https://ecoleaf-label,jp
1TV IV E T MmE R
RS | WERE | amm 1E§§ﬁ BEBE
=X
SURZEED - &5 kg-CO2eq 2.52E+02 1.57E+02 4.23E+00 1.13E+02 1.85E+02
AIVEHIE kg-CFC-11eq|  2.39E-05 2.39E-06 4.86E-08 2.31E-05 5.09E-07
EREL kg-PO4*-eq 7.89E-03 5.34E-06 2.79E-05 4.94E-03 2.50E-04
[i2qc (4 kg-SOzeq 2.56E-01 1.08E-01 2.23E-03 1.52E-01 9.49E-02
HALFEAFII I kg-CzHaeq 7.09E-03 1.30E-03 1.00E-05 2.34E-03 8.84E-04
FEEYE RS - LYY kg-Sbeq 2.66E-02 2.09E-04 1.09E-05 5.55E-02 8.75E-05

—REROERICEET 551%

S1ITY1IAIRY NS REEER

P . - {5/ - #5
FRRIAERR | BSERRE Tm B P E’”;: R
=X
BAEATRE—RER - IRILF- (RPRY) M) 5.45E+02 3.99E+02 7.84E+00 7.70E+02 8.44E+01
BAETE—REE - TRLE-2BME (RPRy) MJ 1.44E+02 8.11E-03 1.70E-03 3.57E+00 2.41E-02
FEB/ETRE—RER - TRILF- (NRPRp) M) 3.68E+03 2.53E+03 8.00E+01 140E+04 1.03E+03
BRI - TRLE-25HE (NRPR,) M) 7.20E+02 4.90E-01 6.99E-02 6.03E+02 5.14E-01

HEFRERCRIT 3EMIER
BB OE M

-BEREOERAMESER
-FU Y M E % 192,0004%

e BEUBERREAOEFHR
YAZFHE GRIEPARICENEIOE

-EIRAROREAREEENTLEEA
SHES, BRI ROBRIL. EH - EFEERE T ELTWET
KEBRIRNF-RY-T0J5LVer3 2(LHVEHLTWET,
CBRIE S AR R A H<E TN AKETT, BIEORZSCIVBREADEEE —HCHERITOSNZEDOTIEHYE A,
ORESPZEM (FREEZBBLTINGNE) |

22488

oE

-ERABRBOEESE (EAE (EPA) YFUA)

ERETNE) EEETRILOTRBVEEA.

zofommREE
CEERIRINF-RT-T0J5LVer3.2EE,
AU R OAST A4 EE E B EBFD A EEFISO 14001 5B ES TIHICTITON TVET,
wEl-mE (ERES) Bifig I5H CAS No. B
Timi 6.1E+01 kg - - -
SUS 5.4E-01 kg - - -
FIIZ9L 8.8E-01 kg
ZnthEE 3.0E+00 kg FEARALEZRT-IDEZH
AR 2.1E+00 kg -IDEA v3.4, SUMPOBRIEININ TOYT L SRR B fiv1. 16& (=,
T32FvY 4.1E+01 kg
ZN 5.5E+00 kg
/A 5.5€-01 kg ABREHHENEOBREBEAN AT LISV REEFEREROTVET,
EEE AR 3.5E+00 kg B FEERREICSV\TENABROERFTEE ELTVERA,
hAE-Y 4.5E+00 kg
OT-YHEDHEF. PCRELUVEE - EEREESRBL I,

OLLRIIOVTS, BE - EEREICRENREEHLBELCLARDONE A,
(BHFURL : https://ecoleaf-label,jp/regulation/)



